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énoncé

ABCD est le quadrilatère ci-contre.

AB = AC = AD = 1.

A

D

C

B

π

8

L’angle orienté (
#   »

AD,
#   »

AC) a pour mesure :

a)
3π

8
b) −

3π

8
c)

5π

8
d) −

5π

8
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correction

On a (
#   »

AD,
#   »

AC) = (
#   »

AD,
#  »

AB)− (
#  »

AB,
#   »

AC),
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correction

On a (
#   »

AD,
#   »

AC) = (
#   »

AD,
#  »

AB)− (
#  »

AB,
#   »

AC),

donc une mesure de l’angle (
#   »

AD,
#   »

AC) est égale à −

π

2
+

π

8
= −

3π

8
,
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correction

On a (
#   »

AD,
#   »

AC) = (
#   »

AD,
#  »

AB)− (
#  »

AB,
#   »

AC),

donc une mesure de l’angle (
#   »

AD,
#   »

AC) est égale à −

π

2
+

π

8
= −

3π

8
,

réponse b).
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